[THE ROAD NOT TAKEN] RIS IR e 1335

Chapter-1

The Road Not Taken

WORKSHEET
FM:10

1. Read the given extract and answer the questions that follow. [1x4]

Two roads diverged in a yellow wood,
And sorry | could not travel both
And be one traveller, long | stood
And looked down one as far as | could
To where it bent in the undergrowth;
a) Where was the poet standing?
b) Why could not travel both the roads?
c) What made the poet stand at the diversion for a long time?
d) Which word in the stanza means opposite of ‘converged’?

2. Answer the following questions in about 20-30 words each. [2X3]
a) Where did the road diverge? What did the poet feel as he stood at the junction of the two

roads?
b) Why did the poet feel like travelling both the roads?
¢) What was the poet’s dilemma?
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